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I 4z K % ouT IN GROSS| HDCP  NET IE4sE K % ouT IN GROSS| HDCP  NET
1 % W E F 50 47 97 271 69.9 61 | B E =HY 49 44 93 9.9 83.1
2 |BI 3/ W F| 46 43 89 16.1 72.9 62 | ® KX Z=FHK 53 50 103 19.9 83.1
3 4 B OB OF 44 42 86 12.9 73.1 63 |y B E F 46 45 91 7.9 83.1
4 M wACZ 45 48 93 19.2 73.8 64 | F HEY 47 49 96 12.8 83.2
5 & B & % 45 49 94 19.7 74.3 65 — #&F IIkF 53 46 99 15.7 83.3
6 EH H E 46 44 90 15.5 74.5 66 I #FE BEF 50 52 102 18.4 83.6
7 B B = 45 44 89 13.8 75.2 67 = £ AEF 51 49 100 16.1 83.9
8 R B E=&/FF 4 45 86 104 756 68 £ %H #BHF 53 51 104 200 840
9 B F & K 42 40 82 6.3 75.7 69 B H EFER 48 44 92 7.9 84.1
10 & 8 F 4 37 36 73 +3.1 76.1 70 (M KX B F 45 48 93 8.9 84.1
11 & BH E % 45 42 87 10.6 76.4 7 ® B B & 55 53 108 23.8 84.2
12 B H & F 43 43 86 95 76.5 72 | & H HHKE 51 48 99 14.7 84.3
13 | #& m OF| 47 49 96 19.4 76.6 73 |F H E|BE#| 49 48 97 12.7 84.3
14 ¥ £ E F| 50 49 99 22.2 76.8 74 | OH R X 44 46 90 55 845
15 B 3 HB\EF 42 44 86 88| 772 75 KX H & F 48 44 92 72 848
16 B B HEF 49 44 93 15.7 773 76 & £ B F b2 45 97 121 849
177 & & a3 Y 50 54 104 267 713 77 % B F 50 52 102 16.4 | 856
18 F H #EY 43 46 89 11.6 774 78 | H #® F 54 46 100 14.3 85.7
19 B F #HHE 49 49 98 20.5 775 79 B K %FEFF 52 44 96 10.2 85.8
20 W O BB = 50 47 97 194 776 80 H t Z—mMmE 46 51 97 110 86.0
21 | = & AN X 43 45 88 10.4 77.6 81 | B AEF 54 50 104 17.8 86.2
2 |% B £ F=| 49 43 92 14.3 717.7 82 & B mMEF 45 50 95 8.6 86.4
23 |8 K ELF 48 50 98 20.2 77.8 83 'l KX H 51 56 107 20.5 86.5
24 B JIl mWEF 54 49 103 251 779 84 E B HIFH 53 58 111 244  86.6
25 b H & F 43 41 84 6.1 77.9 85 B & F &F 48 49 97 10.3 86.7
26 H @ # F 53 42 95 16.9 78.1 86 W XK & F 52 51 103 16.2 86.8
27 |# H W FE| 46 45 91 12.9 78.1 87 | #W B ¥ 52 46 98 11.0 87.0
28 B B +F¥T 48 51 99 20.5 78.5 88 i & f§ F 50 52 102 14.8 87.2
29 B OB X | 44 50 94 15.5 78.5 89 | B B 54 49 103 15.7 87.3
30 & E E HE| 49 41 90 114 786 90 ¥ B #E Xk 52 50 102 147 873
31 |k H & 50 47 97 18.1 78.9 o1 [l & #F ¥ 53 50 103 15.5 87.5
32 & B und 39 41 80 1.1 789 92 R B X F 48 51 99 113 877
33 & B mRF| 47 42 89 100 79.0 93 NIl K B & 55 47 102 142 878
34 E HA # F 48 53 101 216 794 94 A 0O F K| 47 43 90 20 880
35 | KX B F| 49 50 99 19.5 79.5 95 A ¥ = # 45 46 91 2.8 88.2
36 (L Il E F 43 48 91 115 79.5 9% | E & XMF| 56 53 109 204 88.6
37 | B AEF| 46 47 93 13.4 79.6 97 | = Wi #WEF 55 51 106 16.6 894
38 & O EEBEF 43 45 88 8.1 79.9 98 B B X F 54 63 117 26.5 90.5
39 & X E=F 51 50 101 21.0 800 99 = # F 55 47 102 114 906
40 H HF whY 51 50 101 21.0 800 100 # JII F =£| 59 55 114 216 924
41 /M Nl BB F| 55 47 102 217 80.3 101 ¥ KX @B | 55 50 105 101 949
42 B K EBEF 45 44 89 8.7 80.3 102 1 W HIEF 54 55 109 13.7 95.3
43 2 HBH 8l F| 49 48 97 16.4 80.6 103 | & % {&E=EF 53 56 109 12.8 96.2
44 HWFO WEH 48 49 97 16.4 | 806 104 8 H BE 5| 59 60 119 224 96.6
45 H FT B F 52 47 99 18.2 80.8 105 |[#& W X * 62 54 116 18.6 974
46 B B @® F 50 48 98 17.2 80.8 106 # H & F 62 48 110 12.2 97.8
47 W KX F F 49 43 92 11.0 81.0 107 | % & FEF| 67 57 124 15.8 | 108.2
48 ¥ K I F 48 47 95 13.6 81.4 & M E5F PN % (6-6)
49 ¥ H X F 50 50 100 18.6 81.4
50 A H # %* 48 52 100 18.6 81.4
51 IR # B E 46 42 88 58 82.2
52 | # W F 52 42 94 11.7 82.3
53 B & & F 52 48 100 17.7 823
54 | & O & B 44 47 91 8.6 82.4
55 H & #i F| 46 51 97 146 824
56 & K B ¥ 54 50 104 214 82.6
57 # Lt # F| 46 46 92 94 826
58 & R £ ¥ 44 51 95 123 | 827
50 | & B B F 50 46 96 13.2 82.8
60 & ©& E F 55 52 107 240 830




